


(vii) 16a2h2 - 25
(viii) (x? - 2xy + y?) - 22

(Hint : First use identity a2 - 2ab + b? =

(a - b)? then another)
Solution. (i) Here, 2542 — 64b?
= (5a)% - (8b)?

= (5a - 8b) (5a + 8b) Ans.

(i) Here, 4932 — 36 = (7x)2 — (6)2
= (7x = 6) (7x + 6) Ans.
(ii7) Here, 28x% — 63y2 =7 (4x2 - 9y)2
=7 [(20)? - 3y)?]

= 7 [(2x - 3y) (2x + 3y)] Ans.

(e HETe, = xa e (-—x) "(—J’)

23 49 9 7

et
Tt 7)’ 5 \7}’ Ans.

(v) Here, 8x° — 72y° = 8x3 (x2 - 9)
= 87 [(0% - 3)2]

= 8% [(x + 3) (x = 3)] Ans.

(vi) Here, (p + q)* — (p — g)?
=@’ +q? " 2pq)
- (zD2 i 9> - 2pq)
=p’+ ¢ + 299
-p?>-a*+2pq
= 4pg Ans. "
(vii) Here, 16a2b? — 25
= (4ab)? — (5)°
= (4ab + 5) (4ab 5) Ans
(viii) Here, x2 — 2xy + y? — 72 /
= (x - y)? - (2)?

= — y+z)(x y .z)Ans

0.3 Factonse :

O ¥-yt @) st
i) m* - 256 @iv) p4 -(q +'r_.)4-
(v) a*-2a%b?+ bi.

Solution. (i) Here, o=y = ()2 - 0,2)2

= (Z 4 ) (P =1
= (2 + y2) (o +) (xmy)‘ /
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Solutlon (i) Here, a® + 2ab + b

(iii) Here, m* " 256 = () -
= (m? + 16) (m2
= (m? + 16) (?m

(iv) Here, p4 G+ = @2))

=% + @@+ 71 L
_[p2+(q+r)?;
—[p2+(q+r e

(v) Here, a* - 2a2* + b* °
2 (a2)2 2a2b3'2
= @ - %
= [(a - b) (a pr:
=(a+fb)2(a-;

Q. 4. Factorise the following :

() a% +2ab+bZ—c& S

@) 1-912 + 24Im — 16m2

(i) 25p2 - 40pq + 16q — 49
@+ - @
: =(a+b+c)(a+b
(u) Here, 1 — 922 + 24lm — 1
=1-92- 24lm +
=1- [(3l)2
= (1)2 @3l —4m .
= [1+@l-4m)] [ %
b=l 31 4m"‘

“ (5p)2 -2 (p) @4









